e (F7HE)
SXT-CON-GB-F-D40

Art.-Nr.: 10.07.13.00115

P N
SCHMALZ
S

E#Es

Rt |
e IV
bz D40
FHLY ARy

SXT-CON-GB-F-D40

F7RXY S5 T SXT-CON-GBIFERINERE LTHREINET,
F7RISVTIZ. TREREEHFEHETERLET,

o F¥7HKY S S SXT-CON-GB-M (¥ L —/RVEfTO EBEN): T 7XNAERE/\—Y SXT-ANG-F (&) £IIFTRAERIS VS
SXT-EXT-GB

o ¥F7HY S5 T SXT-CON-GB-F (BR/RIVEUTO ARY): F7REBERAE/N—Y SXT-ANG-M (V'L —)

o BIfAE7Z VUV M RV, Dy v— 2TFUVYT

— —r
) FHIVFT—4
L2 L3 D Bt i
T g Ty \—DEE L2 26.00 mm
. = TUy—DES L 49.50 mm
=S H2 25.00 mm
| ¢ EEH 66.00 mm
3 4MZD 35.00 mm
A1Zd1 8.5 mm
Aizd 40.00 mm
AL v EG1 M8-F
Uy —DES L3 22.00 mm
FYA ¥ F—%4 SXT-CON-GB-F-D40
(©  WWW.SCHMALZ.CO.JP/10.07.13.00115 1

JaARIVWICEREE © ¥ avIVIYKRAET « R/ REEHEHX KHHET3001-7 « +81 45 565 5150 ¢ schmalz@schmalz.co.jp



B (F7HE)

SXT-CON-GB-F-D40 ——
- - == ———
Art.-Nr.: 10.07.13.00115
(W) s#Es

Bt |fifE

g8 105.0 g

e I

HqRIFIU— SXT

FHIY ARY
Q@ zowous

COREICAT ZCADT—9E LV TOMOERIT. UTFESBEOZ &L www.schmalz.co.jp/10.07.13.00115
% T=AT7OYPU—-%&EXY 3 10.07.13.00115

Typ mmI- K

B (F7 ) SXT-CON-GB-M-A3 10.07.13.00118

B (F7HE) SXT-CON-GB-M-A5 10.07.13.00119

B&G (F7HE) SXT-CON-GB-M-D25 10.07.13.00112

B (F7HE) SXT-CON-GB-M-D40 10.07.13.00113

B (F7HE) SXT-CON-GB-MO-D40 10.07.13.00116

#G (F7HE) SXT-CON-GB-MO-1.5IN 10.07.13.00117

IVATFYY Iy (F7E) SXT-EXT-GB2-50 10.07.13.00034

FIWNEYV=-D Y TRFT7RARERE SXT-ANG-GB2-M 10.07.13.00120

A

Bty SET SCHRAUBE FED-SCHE M8x55 10.07.13.00176

Bty SET SCHRAUBE FED-SCHE M8x80 10.07.13.00181

Bty SET SCHRAUBE FED-SCHE M8x90 10.07.13.00182

Bty SET SCHRAUBE FED-SCHE M8x100 10.07.13.00183

2

(©  WWW.SCHMALZ.CO.JP/10.07.13.00115

JaARIVWICEREE © ¥ avIVIYKRAET « R/ REEHEHX KHHET3001-7 « +81 45 565 5150 ¢ schmalz@schmalz.co.jp


https://schmalz.saas.contentserv.com/www.schmalz.co.jp/10.07.13.00115

